N?2°0 RpP°¥n 7"7 '0IN X,10 P2 702

Initially it was 9av — K920 RIPOYR

OVERVIEW

The X n3 challenges 701 " (who maintains °1p X? wIX°) from a Xn*92 which states
that a 213 or 1713 who separated 7m17n from the 2v grain he stole, it is a valid m217n.
Seemingly the reason is because the 213 acquired the 92v through W
(contradicting 701 ). The X773 answers that there is no contradiction. The reason
1t 1s 77170 1s not because of the WIX* (alone) but because there is a aw: MW as well.
Initially it was called 22v and now it is called 70, When there is owi "°w (and
WIRY), Ao " agrees that it is 7N1P. Our MdOIN explains why separating 72170 is
considered a valid awi "1w.

mooIn anticipates a difficulty:
- 29RY 215 5Y 111195939 91NN MIPYT 23 YY N

And even though this is a change that can revert back to its original status

through recanting -
= %(x,03 97 097) P91 19 971D 9102 (5,00 97 mnas) N9 YNNI 1)9INTD

As the X ) states in 7729 w7 279 and in the end of P97 32 9717 2795 therefore
the (purported) 0w »11°w should not be considered as a "W since it is a WN>72% NN YW and
nevertheless it is 72170 (only) on account of ¥IX>. This proves that ¥R is 722. The s'& 723 answer
is not understood.

Mo0IN answers:
YNNI N9 1999 959925 AMNN MY 1N YN KD DIPN JoNn

Nonetheless (even though it can revert to 92v through 775%w) it is not considered a

WNIM2D IR MR since it is not usual that one should be Y% on his 770 (or WIPN).
The 213 is therefore 7P through awn M"rw.

SUMMARY
A \n>02% annn 1w through something which is unusual is not considered a "MW
10°°72% 17; but rather a valid »w.

! [Others insert here the word 'R37'.] 87°7 " ruled (on this 77Y) that a »1°w 177 X2 QWS MW 1N>027 000 0.

? Separating 770 is (somewhat) akin to making a 773, It is possible both by 771 and 7m0 to go to a 0an (or three
mu1Ti) and absolve the 771 and likewise to annul the 72770 and have it revert back to 22v. One needs to explain to
the 0on that there was some misunderstanding when he made the 771 or was w157 the 72170.

3 In M2 it states that there is 728w by 7137 nw17P and in 0771 it states that there is 72X by .

* It is highly unlikely that there would be 9&w by 717 for then the produce would revert to 22v and he would be
required to separate 7170 again in order to eat it (see 141 77971 7"1R).
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THINKING IT OVER
Perhaps 1n°°72% annn "W is not a MW, only when there is no ¥X>; however when
there is WX° (as in our case), then even if it is 1N™12% N7 it is a "w!’

> See [Mx7] R"wAn.
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